System 18

Schematic Description Part# UL

]
1 Leg 101857
3 Base plate 101859
4. Cover plate 101860
5 Traverse bar 101861
6 Side panel - nght 101862-
7 Side panel - left 101863
8. Back panel 101864
9.. Side burn plate 101865
10. Top plate 101866
14, Ash retainer 101877
15. Ash plate 101878
16. Rustic door - left side 101940
16A. Classic door - left side 102159
12 - Rustic door - center left 101939
17A. Classic door - center left 102161
18. Rustic door - center night 101938
18A. Classic door - center nght 102162
19. Rustic door - right side 101937
19A. Classic door - right side 102160
25. Smoke hood 101856
26. Smoke outlet (half) 101870
27. Smoke outlet (half w/foid) 101871
31 Draft regulator ) . 101438
33. Anchor adaptor for smoke hodd 101912
35. Door latch assembly, 151443
36. Locking staplewiuS\pin 122614
38 Riddler handle, 100494
39. Rear heat shieid 151494
40. Insulation plate 125720
41, Floor protector 125634
44 Glass - rustic 141059
44A. Glass - classic - outside (sm) 126006
Glass - classic -inside (Ig) 126007

Schemanc Description Panz UL
k]

45 Extension for'legs 101854
‘46 Grate surround 101879
47 Grate 101880
48 Inner ash bucket 151464
49 Outer ash Bucket 151465
50 Side 11m paneffea.) 101881
55 Door, pins, (0ld style) 125677
69 Height adjusting screw 10 mm x 35 125770

60 Me x 35 cheese head screw 9992
62, M6 nut 9930
63, Washer 9974
66._ M8 x 35 hex head screw 9917
70 M6 x 25 wide hex head screw 9961
A Round washer 117140
72 M6 x 10 screw 9910
73 Clips for giass (ea.) 125753
75 Glass gasket - rustic 125752
75A Glass gasket - cfassic (outside) 126008
Glass gasket - classic (inside) 126009
80 Spacer (o/s arrkit) 125736
81 Screw, plate steel 8 x 19 - 117248
84 M6 x 12 hex head screw 9902
85 M6 hex nut 9930
86. Air control base 101936
87 Inlet control 92 mm 101284
88. Shaft assembly 151547
89 Bushing for shaft o/a kit 125735
30. Indication plate assembly 151562
91 M6 x 10 allen screw 117076
92. Knob 101977
Screen for glass (classic - center) 126063
Screen for glass (classic -outside) 126064
Screen - complete 151497

b





